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1. The reaction below is a reversible elementary process.
A+2B = C
If the rate constant for the forward reaction is k; and that the reverse reaction 1s k., what is the
equilibrium constant for this reaction”

(A) K=K+ k., (B) K=k~ k| (C) K= L‘]i(:*_ D) -_-:{E_L
! =1

2. The products of the combustion of acetaldehyde with oxygen are shown in the following
equation °
_ _CHiCHO+__Oy—__ COy+__H)O
When properly balanced , the equation indicates that ___ molecules of O, are required to burn 2
molecules of CH;CHO (A)3 (B)4(C)5(D) 6

3. The thermal decomposition of N,Os obeys first-order Linetics, At 45°C ,a plot of In{N,Os} versus /
gives a slope
of —=6.18x10 *min "' What is the half-life of the reaction .
(A) 1.12x10° min  (B) 1.22x10" min  (C) 1.32x {0 min (D) 1.42x10” min

4. If a process is both endothermic and spontaneous then
(A) AS>0(B) AS<0(C) AH<0 (D) AG>0
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6. F 547 fi ik A BT (A). Hy)S/NapS (13). NaOH/CH;COOH (C). NHy/NH,C
(D). NH,OH/NaOH
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8. O +0;-> 20
b B2 LS 2 30 ki/mol. £ BUM R AH= -380 ki/mol $XF L3 R Z ARG EAL
% (A) 380KkS (B).350kJ (C).30k] (D). 410k
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| 3% 2.00x10°ml 0.862M 2z HCl # 2.00x 10°ml, 0431 M 2 Ba(OH), P LY. o
b #cE S 2 B A 453 )/ CLHCL & Ba(OH), B2 viiE e & 2048 C 2 TF A, PAe
#2562 k), R RARZBLMAT O b B 4184 He.C

2 I’IC](aq) -+ Ba(OH)Z(ﬂq) e 2 l']z()(])“ 138(12(;,(‘)

2. — &4 50ml, 0.1M z BEBE Rl 0.1M = NaOFH S8 7% 58 % Z,,’é‘ii%fﬁ
o 50ml 2. NaOH # %3z pH B 47K,=1.75x107 (25 C)

3. When 0.860g of an organic compound containing (. H.and O is burned completely in
oxygen, 1.64g of CO, and 1.01g of H;O were produced. What is the empirical
formula of the compound. (AW: C=12.0, H=1.0, O=16)

4. Calcium (Ca) can be completely precipitated from the blood sample as calcium oxalate
(CaC,04). The CaC,04 precipitated from 10 ml of blood was then dissolved in acid and titrated
with KMnO; ( as shown in the following equation). it was found that 24.2 ml of 9.56 x 10°* M
KMnO; was required for the titration. What is the molar concentration of calcium in the blood?

MnO; +CaCyOs—  CO, + Mn"” + Ca” (Acidic)





